CAT00D8TAFCT00298

Filters: Start Date - 9/23/2000; End Date - 9/23/2025; Equipment - D8T CAT DOZER [7870]

Work Order:

3514

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Equipement Maintenance

Kms:

Hr:

8061 8070 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

Machinery

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
	A 19 /N 25		Total Labor	\$0.00
# 70 TO 10-10 Months (127 Oct 100 Or 70 Oct 100 Oct 10			Total Parts	\$0.00
		# // // // // // // // // // // // // //	Total Equip	\$0.00
	THE REPORT OF THE PROPERTY OF		Total Cost	\$0.00

Notes:

STEVE

Item ID	Description	Completed By	Reported Hours
4173	0250 Hour Service		0.00

* Change engine oil.

* Change engine filters -- oil and air.

* Check all fluids.

* Complete grease.

* Sample engine oil.

Work Order:

5790

Equipment:

D8T CAT DOZER [7870]

Rocky Mountain House Shop

Work Location:

Created by:

Kms:

Hr:

Carla Merklin

8061

8070

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

CATOOD8TAFCT00298

Machinery 9/25/2019

9/30/2019

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	4.50 RT	Shop Lube	\$38.00	\$171.00
			Total Labor	\$171.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$171.00

Item ID	Description	Completed By	Reported Hours
7920	0500 Hour Service		4.50

- * Change engine oil.
 * Change all filters.
 * Check plvot shaft oil.
 * Check equalizer bar oil.
 * Check all fluids.
 * Complete grease.
 * Sample all oils.

Work Order: Equipment:

8724

D8T CAT DOZER [7870]

Work Location:

Created by:

Carla Merklin

8061

Kms: Hr:

8070

Status:

Transferred Serial Number: CAT00D8TAFCT00298

Business Unit:

Start Date: Stop Date:

Machinery

Work Order Cost Summary

Descri	ption	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
		-	Total Equip	\$0.00
			Total Cost	\$0.00

Notes:

MIDWEST DR8003

Completed By	Reported Hours
	0.00

- * Change engine oil.

 * Check all fluids.

 * Complete grease.

12787

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Brent Thring

Kms: 8061

Hr: 8070 Status:

Serial Number:

Business Unit:

CAT00D8TAFCT00298 Machinery

Transferred

Start Date:

Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
KIT- SEAL - H.C DOZER LIFT CYLINDER [3193557]	2.00 Each	\$202.59	\$405.18
		Total Parts	\$405.18
		Total Equip	\$0.00
	A175-	Total Cost	\$405.18

Item ID I	Description	Completed By	Reported Hours
21411 7	7870-DIRECT BILL		0.00
21411 /	7670-DIRECT BILL		0.00
Work Order:	15351	Status:	Transferred
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Work Location	n:	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	
Kms:	8061	Stop Date:	
Hr:	8070		

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
	······································	Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Notes:	DR8003		
Item ID	Description	Completed By	Reported Hours
25494	1000 Hour Service	Carla Merklin	0.00

- * Change all filters.

 * Change engine oil.

 * Change transmission oil.

 * Change final drive oils.
- * Change winch oil (if applicable).
 * Check pivot shaft oil.
- * Check equalizer bar oil. * Check all fluids.
- * Complete grease.
- * Sample all oils.

16483

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Kms:

Hr:

Carla Merklin

8061

8070

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

CAT00D8TAFCT00298

Machinery

Transferred

Machinery

CAT00D8TAFCT00298

Work Order Cost Summary

Descri	otion Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Notes:

DR8003 Item ID Description Completed By **Reported Hours** 27739 0250 Hour Service Carla Merklin 0.00

- * Change engine oil.
- * Change engine oil filter.
- Check all fluids.
- * Complete grease.

Work Order:

19036

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Carla Merklin

Kms:

Hr:

8061

Serial Number: Business Unit:

Status:

Start Date:

Stop Date:

8070

Work Order Cost Summary

Descri	ption	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
_			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes:

DR8003

1705

Item I	D Description	Completed By	Reported Hours
32960	0500 Hour Service	Carla Merklin	0.00

- * Change engine oil. * Change all filters. * Check pivot shaft oil.

- * Check equalizer bar oil.
 * Check all fluids.
- * Complete grease.
 * Sample all oils.

20043

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Carla Merklin

Kms: 8061 8070

Hr:

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred

CATOOD8TAFCT00298

Machinery

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
	Tota	il Labor	\$0.00
	Tota	al Parts	\$0.00
	Tota	al Equip	\$0.00
	Tot	al Cost	\$0.00

Notes: DR8003 1705

Item ID	Description	Completed By	Reported Hours
34836	0250 Hour Service	Carla Merklin	0.00

- * Change engine oil.
 * Change engine oil filter.
 * Check all fluids.
- * Complete grease.

21113

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by: Kms:

Hr:

Tevin Ferris 8061

8070

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred

CAT00D8TAFCT00298

Machinery 6/6/2021 6/11/2021

Work Order Cost Summary

Descri	tion	Quantity	Labor Type	Rate	Total
TEVIN	ERRIS	54.00 RT	Shop Mech Field	\$54.00	\$2,916.00
				Total Labor	\$2,916.00
3/4" FE	MALE WING COUPLER [6125-12-1]	1.00 Each		\$78.11	\$78.11
BELT [3	505391]	1.00 Each		\$135.87	\$135.87
CLAMP	BAND [3460335]	1.00 Each		\$40.70	\$40.70
CLAMP	BENT B [3887017]	1.00 Each		\$30.42	\$30.42
DAMPE	R ASSEMBLY -DOOR SHOCK [3173836]	1.00 Each		\$77.11	\$77.11
MASTER	DISCONNECT SWITCH [2484-16]	1.00 Each		\$44.44	\$44.44
ROLLER	GROUP LESS COL [CR4529]	16.00 Each		\$250.00	\$4,000.00
UNION	FRACTOR INV 040-221022[Custom]	1.00 Each		\$69.62	\$69.62
				Total Parts	\$4,476.27
				Total Equip	\$0.00
				Total Cost	\$7,392.27

Item ID	Description		Completed By	Reported Hours
38203	7870 - under carriage	3	Carla Merklin	54.00
Work Orde	: 21275	;	Status:	Transferred
Equipment	D8T 0	AT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Work Loca	ion: Curre	nt Equipment Location	Business Unit:	Machinery
Created by	Brian	MacDonald	Start Date:	6/8/2021
(ms:	8061		Stop Date:	6/11/2021
Hr:	8070		•	

Descri	ption	Quantity	Labor Type	Rate	Total
ALLAN	SUTHERLAND	16.00 RT	Shop Mech Field	\$54.00	\$864.00
BRIAN	MACDONALD	6.50 RT	Shop Mech Field	\$54.00	\$351.00
				Total Labor	\$1,215.00
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$1,215.00

Item ID	Description	Completed By	Reported Hours
20727			
38505	7870 ripper cylinders	Carla Merklin	22.50

22637

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Carla Merklin

Kms: 8061 Hr: 8070 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

CAT00D8TAFCT00298

Machinery

Transferred

Work Order Cost Summary

Description	Quantity Lab	or Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
	-		Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR8003 1705

Item ID	Description	Completed By	Reported Hours
40864	1000 Hour Service	Carla Merklin	0.00

- * Change all filters.
 * Change engine oil.

- * Change transmission oil.

 * Change final drive oils.

 * Change winch oil (if applicable).

 * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:

25749

D8T CAT DOZER [7870]

Work Location:

Equipment:

Hr:

47124

Created by: Kms:

Carla Merklin

8061 8070 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred

CATOOD8TAFCT00298

Machinery

0.00

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

DR8003 1705 Notes:

Item ID	Description	Completed By	Reported Hours

0250 Hour Service Carla Merklin

* Change engine oil.
* Change engine filters -- oil and air.
* Check all fluids.
* Complete grease.
* Sample engine oil.

Work Order:

28557

8061

8070

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Kms: Hr:

Carla Merklin

Status:

Serial Number:

Business Unit:

Start Date:

Machinery

Transferred

CAT00D8TAFCT00298

Stop Date:

Work Order Cost Summary

Descri	ption	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes:

DR8003 1705

Item ID	Description	Completed By	Reported Hours
53120	0500 Hour Service	Carla Merklin	0.00

- * Change engine oil.
 * Change all filters.
 * Check pivot shaft oil.
 * Check equalizer bar oil.
 * Check all fluids.
- * Complete grease.
 * Sample all oils.

30604

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Carla Merklin

Kms: 8061 8070

Hr:

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred CAT00D8TAFCT00298

Machinery

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
L			Total Cost	\$0.00

dr8003 1705 Notes:

Item ID	Description	Completed By	Reported Hours
53162	0250 Hour Service	Carla Merklin	0.00

- * Change engine oil.
 * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: **Equipment:**

37430

D8T CAT DOZER [7870]

Work Location:

Created by:

Brittinni Lockard

8061 Kms: Hr: 8070 Status:

Serial Number: Business Unit:

Start Date:

Stop Date:

Transferred CAT00D8TAFCT00298

Machinery

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

N	atacı	
11	ores:	

6068

Item ID	Description	Completed By	Reported Hours

67687

6000 Hour Service

Brittinni Lockard

0.00

- * Change all filters.

 * Change engine oil.

 * Change transmission oil.

 * Change final drive oils.
- * Change winch oil (if applicable).
 * Change hydraulic oils.

- * Change coolant.
 * Check pivot shaft oil.
- * Check equalizer bar oil. * Check all fluids.
- * Complete grease.
 * Sample all oils.

38722

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Kms:

Hr:

Brittinni Lockard

8061

8070

Status:

Serial Number: **Business Unit:**

Start Date: Stop Date:

Transferred

CAT00D8TAFCT00298

Machinery

Descri	otion Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item I	D Description	Completed By	Reported Hours
70344	0250 Hour Service	Brittinni Lockard	0.00

- * Change engine oil.

 * Change engine filters -- oil and air.

 * Check all fluids.
- * Complete grease.
 * Sample engine oil.

39746

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Brittinni Lockard

Kms: Hr:

8061

8070

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

CAT00D8TAFCT00298

Machinery

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
72441	0500 Hour Service	Brittinni Lockard	0.00

- * Change engine oil.

 * Change all filters.

 * Check plvot shaft oil.

 * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: **Equipment:**

41311

8061

Work Location:

D8T CAT DOZER [7870]

Created by:

Brittinni Lockard

Kms:

8070 Hr:

Status:

Transferred CATOOD8TAFCT00298

Serial Number: **Business Unit:**

Start Date: Stop Date:

Machinery

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
	· · · · · · · · · · · · · · · · · · ·	Total Parts	\$0.00
		Total Equip	\$0.00
<u> </u>		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours

74179

0250 Hour Service

Brittinni Lockard

0.00

- * Change engine oil.
 * Change engine filters -- oil and air.
 * Check all fluids.
 * Complete grease.
 * Sample engine oil.

Work Order:

44985

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by: Kms:

Item ID

Brittinni Lockard

8061

Hr: 8070 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

CAT00D8TAFCT00298

Machinery

Descri	ption	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

tem ID	Description	Completed By	Reported Hours
1099	1000 Hour Service	Brittinni Lockard	0.00
* Cha	nge all filters.		
* Cha	nge engine oil.		
	nge transmission oil.		
* Cha	nge final drive oils.		
* Cha	nge winch oil (if applicable).		
* Che	ck pivot shaft oil.		
* Che	ck equalizer bar oil.		
* Che	ck all fluids.		
* Con	nplete grease.		
* Sam	ple all oils.		

46088

Equipment:

D8T CAT DOZER [7870]

Work Location:

Created by:

Brittinni Lockard

Kms: Hr:

8061

8070

Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Transferred

CAT00D8TAFCT00298

Machinery

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
79627	0250 Hour Service	Brittinni Lockard	0,00

- * Change engine oil.
 * Change engine filters -- oil and air.
 * Check all fluids.
 * Complete grease.
 * Sample engine oil.

48577

8061

8070

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Kms: Hr:

Brittinni Lockard

Start Date: Stop Date:

Status:

Serial Number:

Business Unit:

Transferred

CATOOD8TAFCT00298

Machinery

11/21/2023 1/21/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Tota
MATTHEW GERVAIS	32.00 RT	Shop Mech Field	\$59.34	\$1,898.88
			Total Labor	\$1,898.88
1 3/4" TO 2 5/8" CLAMP[Custom]	2.00 Each		\$12.88	\$25.76
3/4" FEMALE WING COUPLER [612512]	1.00 Each		\$121.76	\$121.76
3/4" MÅLE WING COUPLER [610512]	1.00 Each		\$87.27	\$87.27
BEARING [3G5999]	8.00 Each		\$105.57	\$844.56
BEARING [7T3746]	8.00 Each		\$82.34	\$658.72
BELT [\$505391]	1.00 Each		\$199.50	\$199.50
KIT- SEAL - H.C DOZER LIFT CYLINDER [3193557]	2.00 Each		\$202.59	\$405.18
PIN - DOZER [1583653]	2.00 Each		\$204,20	\$408.40
PIN [1620390]	2.00 Each		\$356.20	\$712.40
PIN [1\psi_0990U]	4.00 Each		\$248.66	\$994.64
PIN [4†1389]	4.00 Each		\$574.66	\$2,298.64
PIN [6¥3394]	1.00 Each		\$4.20	\$4.20
PIN 4T0203[Custom]	2.00 Each		\$399.25	\$798.50
RETAINER [8E5559]	1.00 Each		\$5.28	\$5.28
ROD REPAIR[Custom]	1.00 Each		\$1,348.20	\$1,348.20
SEAL [\$E6756]	16.00 Each		\$25.32	\$405.12
SEAL {\$126457 GENERAL DUTY} [3E6757]	1.00 Each		\$48.40	\$48.40
SEAL {5126457 GENERAL DUTY} [3E6757]	7.00 Each		\$35.46	\$248.22
SEAL O RING LH COVER FLYWHEEL HOUSING TORQUE [4M0189]	2.00 Each		\$11.20	\$22.40
STARTER GASKET (CAT) [4H7869]	1.00 Each		\$5.85	\$5.85
STARTER ORING [8C3089]	1.00 Each		\$34.93	\$34.93
TOOTH - RIPPER [4T5452]	1.00 Each		\$74.99	\$74.99
VALVE- ETHER INJECTOR {2391134} [6131131]	1.00 Each		\$339.49	\$339.49
			Total Parts	\$10,092.40
			Total Equip	\$0.00
			Total Cost	\$11,991.28

Notes LOOK FOR ON-SITE (ONSMAC) INVOICE FOR MACHINING

Item I	D Description	Completed By	Reported Hours
89439	7870 - RENTAL CHECK OVER	Brittinni Lockard	32.00

50511

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8061 8070 Status:

Serial Number: Business Unit:

Start Date:

Stop Date:

Transferred CAT00D8TAFCT00298

Machinery

1/31/2024 2/11/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JASON HOLLINGSWORTH	4.00 RT	Shop Mech Field	\$59.34	\$237.36
KYLE DRANEY	16.50 RT	Shop Weld Rky	\$47.83	\$789.20
MATTHEW GERVAIS	48.50 RT	Shop Mech Field	\$59.34	\$2,877.99
			Total Labor	\$3,904.55
ALTERNATOR A 80139N[Custom]	1.00 Each	 I	\$462.26	\$462.26
CORNER BIT - 1 5/8" LH (DOZER) [8E4194]	1.00 Each	1	\$231.88	\$231.88
CORNER BIT - 1 5/8" RH [8E4193]	1.00 Each	ı	\$228.00	\$228.00
EDGE CAT 9W5432[Custom]	3.00 Each	1	\$222.80	\$668.40
KIT- SEAL - H.C DOZER LIFT CYLINDER [3193557]	2.00 Each	1	\$202.59	\$405.18
PIN [4F1252]	1.00 Each	1	\$99.40	\$99.40
PIN [6Y3394]	3.00 Each	1	\$6.40	\$19.19
RETAINER [8E5559]	3.00 Each	1	\$5.89	\$17.68
WASHER 4116X7X116 [6K6351]	7.00 Each	1	\$15.36	\$107.53
WASHER 4116X7X18 [6K6351HD]	5.00 Each	1	\$15.62	\$78.12
			Total Parts	\$2,317.63
			Total Equip	\$0.00
			Total Cost	\$6,222.18

Item ID De	escription	Completed By	Reported Hours
92545 78	70 - lift cylinder repair	Carla Merklin	69.00
Work Order:	51540	Status:	Transferred
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Geoffrey Simmelink	Start Date:	2/28/2024
Kms:	8061	Stop Date:	2/28/2024
Hr:	8070		

Description	Quantity	Labor Type	Rate	Total
GEOFFREY SIMMELINK	4.00 RT	Shop Mech Field	\$59.34	\$237.36
KENDRICK ROBINSON	8.50 RT	Shop Mech Rky	\$49.05	\$416.93
			Total Labor	\$654.29
FITTING ASSY [1608766]	3.00 Each	1	\$89.60	\$268.80
			Total Parts	\$268.80
	· · · · <u>· · · · · · · · · · · · · · · </u>		Total Equip	\$0.00
			Total Cost	\$923.09

Item ID	Description	Completed By	Reported Hours	
94361	7870-RESEAL FLANGE NUTS AND INSTALL RODS	Sienna Campbell	12.50	_

54569

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Geoffrey Simmelink

Kms:

8061

Hr:

8070

Status:

Stop Date:

Serial Number:

Business Unit: Start Date:

Closed

Machinery

6/1/2024 6/1/2024

CATOOD8TAFCT00298

Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
GEOFF	REY SIMMELINK	4.50 RT	Shop Mech Field	\$59.34	\$267.03
				Total Labor	\$267.03
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$267.03

Item ID Descri	ption	Completed By	Reported Hours
100093 7870- (OUTGOING INSPECTION AND REPAIRS	Brittinni Lockard	4.50
Work Order:	54595	Status:	Closed
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Nork Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	
(ms:	8061	Stop Date:	
dr:	8070		

Desc	iption	Quantity	Labor Type	Rate	Total
HERM	ANN KUKOWSKI	4.00 RT	Shop Mech Field	\$59.34	\$237.36
				Total Labor	\$237.36
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$237.36

Item ID	Description	Completed By	Reported Hours
100107			
100127	7870 - GROUND LEVEL SHUT OFF PROBLEM	Jeremy Detema	4.00

54821

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Cody Brown

Kms: Hr:

8061 8070 Status:

Serial Number:

Business Unit:

CAT00D8TAFCT00298

Closed

Machinery

Start Date: Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CODY BROWN	4.00 RT	Shop Mech Rky	\$49.05	\$196.20
			Total Labor	\$196.20
			Total Parts	\$0.00
			Total Equip	\$0.00
		•	Total Cost	\$196.20

Item ID	Description	Completed By	Reported Hours
100478	7870-Vesta rental return inspection	Sienna Campbell	4.00
Work Order:	54878	Status:	Closed
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Work Locatio	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Geoffrey Simmelink	Start Date:	
Kms:	8061	Stop Date:	
Hr:	8070		

Description	Quantity	Labor Type	Rate	Total
GEOFFREY SIMMELINK	37.50 RT	Shop Mech Field	\$59.34	\$2,225.25
			Total Labor	\$2,225.25
13" WIPER BLADE [20131]	1.00 Each		\$5.55	\$5.55
7T1151 SEAL[Custom]	1.00 Each		\$856.84	\$856.84
BOLT - MASTER [6V1724]	2.00 Each		\$7.13	\$14.26
BOLT - MASTER [6V1725]	2.00 Each		\$9.77	\$19.54
BOLT [6T1140]	1.00 Each		\$4.54	\$4.54
SEAL [5P5374]	1.00 Each		\$18.74	\$18.74
SEAL [9X7505]	1.00 Each		\$411.13	\$411.13
SEAL KIT (H.C.) 6E5527 Tilt cylinder [2440980]	1.00 Each		\$189.80	\$189.80
SEAL O-RING [6V3263]	1.00 Each		\$22.38	\$22.38
VACUATOR VALVE (DUST EJECTOR) (600-184-1350, 1518366) [P158914]	1.00 Each		\$10.07	\$10.07
WASHER [5P8249]	1.00 Each		\$2.98	\$2.98
			Total Parts	\$1,555.84
			Total Equip	\$0.00
		·-	Total Cost	\$3,781.09

Item ID	Description	Completed By	Reported Hours
100577	7870- RETURN INSPECTION	Sienna Campbell	37.50

Work Order: Equipment: Work Location: Created by: Kms: Hr:

54887

D8T CAT DOZER [7870] Current Equipment Location

Brittinni Lockard

8061

8070

Status:

Serial Number:

CAT00D8TAFCT00298

Business Unit: Start Date:

Machinery 6/11/2024

Closed

Stop Date:

6/11/2024

Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
ANTHO	NY RODRIGUEZ	3.00 RT	Shop Lube	\$41.17	\$123.51
				Total Labor	\$123.51
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$123.51

Item ID	Description	Completed By	Reported Hours
30641	0500 Hour Service	Anthony Rodriguez	3.00
	nge engine oil. nge all filters.		
* Che	ck pivot shaft oil. ck equalizer bar oil.		
	ck all fluids.		

Work Order:

56461

8070

Equipment: Work Location: **D8T CAT DOZER [7870]**

Current Equipment Location

Created by: Kms:

Hr:

Sienna Campbell

8061

Status: Serial Number: Closed

CAT00D8TAFCT00298

Business Unit:

Start Date:

Stop Date:

Machinery

Desc	ription	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Iten	ID	Description	Completed By	Reported Hours
				-

103329 7870- Repairs Sienna Campbell 0.00

Work Order: 59215 Status: Closed

Equipment: D8T CAT DOZER [7870] Serial Number: CAT00D8TAFCT00298

Work Location:Current Equipment LocationBusiness Unit:MachineryCreated by:Brittinni LockardStart Date:

 Kms:
 8061
 Stop Date:

 Hr:
 8070

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JASON HOLLINGSWORTH	8.50 RT	Shop Mech Field	\$59.34	\$504.39
			Total Labor	\$504.39
SENSOR POWER TRAIN [3306719]	1.00 Each	1	\$397.28	\$397.28
			Total Parts	\$397.28
			Total Equip	\$0.00
· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·	Total Cost	\$901.67

Item ID	Description	Completed By	Reported Hours
108321	7870 - CLEAR CODES	Carla Merklin	8.50
Work Order	: 60278	Status:	Closed
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CATOOD8TAFCT00298
Work Locati	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Nathan Sak	Start Date:	10/31/2024
Kms:	8061	Stop Date:	10/31/2024
Hr:	8070		

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	6.50 RT	Shop Tire Tech	\$36.33	\$236.15
			Total Labor	\$236.15
			Total Parts	\$0.00
			Total Equip	\$0.00
		· · · · ·	Total Cost	\$236.15

Item ID	Description	Completed By	Reported Hours
110166	Take Tracks Apart	Nathan Sak	6.50

60328

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Nathan Sak

Kms: Hr:

8061

Status:

Serial Number:

Business Unit:

Machinery

Start Date: Stop Date:

11/1/2024 11/1/2024

CAT00D8TAFCT00298

Closed

8070

Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
NATHA	N SAK	6.50 RT	Shop Tire Tech	\$36.33	\$236.15
				Total Labor	\$236.15
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$236.15

Item	ID Descrip	tion	Completed By	Reported Hours
11029	5 Take Ap	art Tracks	Nathan Sak	6.50
	Order:	60687	Status:	Closed
quip	ment:	D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Vork	Location:	Current Equipment Location	Business Unit:	Machinery
Creat	ed by:	Brian MacDonald	Start Date:	
(ms:		8061	Stop Date:	
Hr:		8070	·	

Desc	iption	Quantity	Labor Type	Rate	Total
BRIA	MACDONALD	4.00 RT	Shop Mech Field	\$59.34	\$237.36
				Total Labor	\$237.36
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$237.36

Item ID	Description	Completed By	Reported Hours
110854	77870 rigup	Brittinni Lockard	4.00
110054	77070 Tigup	Brittinni Lockard	4.00

61918

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

8061 8070 Status:

Serial Number:

Closed

CATOOD8TAFCT00298

Business Unit: Start Date:

Machinery 12/13/2024

Closed

Machinery

CATOOD8TAFCT00298

Stop Date:

Status:

Serial Number:

Business Unit:

12/13/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
			Total Parts	\$0.00
			Total Equip	\$0.00
		*****	Total Cost	\$123.51

Item ID	Description	Completed By	Reported Hours
83212	0250 Hour Service	Anthony Rodriguez	3.00

* Change engine oil.
* Change engine filters -- oil and air.

* Check all fluids.
* Complete grease.

* Sample engine oil.

Work Order: **Equipment:**

61985

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location Brittinni Lockard

Created by: Kms:

Hr:

8061 8070 **Start Date:** Stop Date:

Description	Quantity	Labor Type	Rate	Total
KENDRICK ROBINSON	0.50 RT	Shop Mech Rky	\$49.05	\$24.53
			Total Labor	\$24.53
			Total Parts	\$0.00
			Total Equip	\$0.00
		,	Total Cost	\$24.53

Item ID	Description	Completed By	Reported Hours
113591	7870 - D8 HEATER VALVE STICKING BLOW WARM ON COLD	Carla Merklin	0.50

62864

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Brian MacDonald

Kms: 8061

Hr: 8070 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Machinery 1/20/2025

Closed

1/20/2025

CAT00D8TAFCT00298

Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
BRIAN	MACDONALD	15.50 RT	Shop Mech Field	\$59.34	\$919.77
				Total Labor	\$919.77
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$919.77

Item ID Descrip	otion	Completed By	Reported Hours
115003 7870 ch	eck over	Carla Merklin	15.50
Work Order:	67978	Status:	Closed
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Al Sutherland	Start Date:	6/2/2025
(ms:	8061	Stop Date:	6/2/2025
Hr:	8070		

Desc	ription	Quantity	Labor Type	Rate	Total
ALLAI	SUTHERLAND	2.50 RT	Shop Mech Field	\$59.34	\$148.35
				Total Labor	\$148.35
				Total Parts	\$0.00
				Total Equip	\$0.00
			······································	Total Cost	\$148.35

Item ID	Description	Completed By	Reported Hours
45.45			
124255	7870 ac not working	Brittinni Lockard	2.50

68322

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

8061 8070

Status:

Serial Number:

Closed CAT00D8TAFCT00298

Business Unit:

Machinery 6/9/2025

Start Date: Stop Date:

6/9/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.50 RT	Shop Lube	\$41.17	\$185.27
			Total Labor	\$185.27
			Total Parts	\$0.00
			Total Equip	\$0.00
<u> </u>	· · · · · · · · · · · · · · · · · · ·	· · · <u></u> -	Total Cost	\$185.27

Item ID	Description	Completed By	Reported Hours
124431	1000 Hour Service	Anthony Rodriguez	4.50

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
 * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:

68966

D8T CAT DOZER [7870]

Equipment: Work Location:

Current Equipment Location

Created by: Kms:

Brian MacDonald

Hr:

8061 8070 Status:

Serial Number:

Business Unit:

Start Date: **Stop Date:**

Machinery 6/18/2025

CAT00D8TAFCT00298

Closed

6/18/2025

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	11.50 RT	Shop Mech Field	\$59.34	\$682.41
			Total Labor	\$682.41
			Total Parts	\$0.00
			Total Equip	\$0.00
<u> </u>			Total Cost	\$682.41

Item ID	Description	Completed By	Reported Hours
125708	7870 leaks	Brittinni Lockard	11.50

69259

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

8061 8070 Status:

Serial Number:

Business Unit: Start Date: Stop Date:

Closed CAT00D8TAFCT00298

Machinery

6/24/2025 6/24/2025

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
BRIAN MACDONALD	10.00 RT Shop Mech Field	\$59.34	\$593.40
		Total Labor	\$593.40
CLIP [4P7581]	1.00 Each	\$10.15	\$10.15
HARNESS ASSY [5710925]	1.00 Each	\$85.30	\$85.30
HOSE ASY [5325753]	1.00 Each	\$178.66	\$178.66
STORAGE ACCESS DOOR [3323527]	1.00 Each	\$52.85	\$52.85
STRAP DUAL [1783620]	1.00 Each	\$8.69	\$8.69
TIE WRAP [2042281]	1.00 Each	\$4.27	\$4.27
		Total Parts	\$339.92
		Total Equip	\$0.00
		Total Cost	\$933.32

Item ID	Description	Completed By	Reported Hours
126151	7870 - leaks continued	Brittinni Lockard	10.00
Work Orde	er: 69911	Status:	Closed
Equipment	: D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Work Loca	tion: Current Equipment Location	Business Unit:	Machinery
Created by	: Brian MacDonald	Start Date:	7/8/2025
Kms:	8061	Stop Date:	7/8/2025
Hr:	8070	·	• •

Desc	ription	Quantity	Labor Type	Rate	Total
BRIA	MACDONALD	1.50 RT	Shop Mech Field	\$59.34	\$89.01
				Total Labor	\$89.01
				Total Parts	\$0.00
				Total Equip	\$0.00
			-	Total Cost	\$89.01

Item ID	Description	Completed By	Reported Hours
127279	7870 check over	Brithing Lookand	4.50
12/4/9	7070 CHECK OVEI	Brittinni Lockard	1.50

70319

8070

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by: Kms:

Brian MacDonald 8061

Hr:

Status:

Serial Number:

Closed CAT00D8TAFCT00298

Machinery

Business Unit: Start Date:

Stop Date:

7/16/2025 7/16/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	16.50 RT	Shop Mech Field	\$59.34	\$979.11
			Total Labor	\$979.11
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$979.11

Item ID De	scription	Completed By	Reported Hours
127924 787	70 glover box lid	Brittinni Lockard	16.50
Work Order:	70774	Status:	Closed
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CATOOD8TAFCT00298
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	7/25/2025
Kms:	8061	Stop Date:	7/25/2025
Hr:	8070		

Description	Quantity	Labor Type	Rate	Total
KYLE DRANEY	5.00 RT	Shop Weld Field	\$55.71	\$278.55
			Total Labor	\$278.55
BEARING - BRACE ARM ANGLING BLADE D8T [7T9147]	1.00 Each)	\$411.83	\$411.83
SNAP RING - BRACE ANGLING BLADE D8T (AMP4J4968) [4J4968]	2,00 Each	1	\$35.92	\$71.83
			Total Parts	\$483.66
			Total Equip	\$0.00
<u> </u>			Total Cost	\$762.21
Item ID Description		Completed By	Reported Hour	S

Item ID Description		Completed By	Reported Hours
128770	7870 - WELDING AND THINGS	Brittinni Lockard	5.00

Work Order: Equipment:

70965

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Brian MacDonald

Kms: Hr:

8061 8070 Status:

Serial Number:

Start Date:

Stop Date:

Closed

CAT00D8TAFCT00298

7/29/2025

Business Unit: Machinery 7/29/2025

Work Order Cost Summary

Descr	ption	Quantity	Labor Type	Rate	Total
BRIAN	MACDONALD	8.00 RT	Shop Mech Field	\$59.34	\$474.72
				Total Labor	\$474.72
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$474.72

Item ID	Descrip	tion	Completed By	Reported Hours
129054	7870 pu	sh arm	Brittinni Lockard	8.00
Work Or	der:	72939	Status:	Scheduled
Equipme	ent:	D8T CAT DOZER [7870]	Serial Number:	CATOOD8TAFCT00298
Nork Lo	cation:	Current Equipment Location	Business Unit:	Machinery
Created	by:	Randy Wearmouth	Start Date:	9/11/2025
(ms:		8061	Stop Date:	9/11/2025
Hr:		8070		

Item ID Descrip	tion	Completed By	Reported Hours
132797 7870 - I	NSTALL RIPPER		18.00
Work Order:	73070	Status:	Scheduled
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Hunter Tschetter	Start Date:	9/10/2025
Cms	8061	Stop Date:	9/10/2025
dr:	8070	·	

Item ID Descrip	pton	Completed By	Reported Hours
133052 7870 Gr	eenrag inspection		30.00
Work Order:	73370	Status:	Scheduled
Equipment:	D8T CAT DOZER [7870]	Serial Number:	CAT00D8TAFCT00298
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Kai Ehn	Start Date:	9/20/2025
Kms:	8061	Stop Date:	9/20/2025
Hr:	8070		

133571 replace hydraulic hose, swap tracks 15.00

Work Order:

73411

Equipment:

D8T CAT DOZER [7870]

Work Location:

Current Equipment Location

Created by:

Kendrick Robinson

Kms: Hr:

8061 8070

Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Scheduled CATOOD8TAFCT00298

Machinery

9/22/2025 9/22/2025

3.50

Item ID Description Completed By Reported Hours

133630 7870 sale prep

	1			1	<u> </u>		Τ	ľ
Customer	CO No	Facility	Order Type	Order Date	Act. Delivery	Lines	Model	Serial No
CA-0001785 - PIDHERNEYS INC	60918412	EDMONTON DIST CENTER	FLD	11-Oct-23	14-Nov-23	10	D8T	FCT00298
CA-0001785 - PIDHERNEYS INC	60812891	EDMONTON DIST CENTER	FLD	23-Mar-22	24-Mar-22	10	D8T	FCT00298
CA-0038893 - MIDWEST PIPELINES INC	60757922	EDMONTON DIST CENTER	FLD	28-May-21	04-Nov-21	10	D8T	FCT00298
CA-0038893 - MIDWEST PIPELINES INC	60755655	EDMONTON DIST CENTER	FLD	17-May-21	01-Nov-21	10	D8T	FCT00298
CA-0001785 - PIDHERNEYS INC	60767349	EDMONTON DIST CENTER	FLD	19-Jul-21	18-Aug-21	10	D8T	FCT00298
CA-0038893 - MIDWEST PIPELINES INC	60712562	EDMONTON DIST CENTER	FLD	22-Sep-20	07-Oct-20	10	D8T	FCT00298
CA-0001785 - PIDHERNEYS INC	60697445	RED DEER	FLD	30-Jun-20	16-Jul-20	10	D8T	FCT00298
CA-0038893 - MIDWEST PIPELINES INC	60688965	EDMONTON DIST CENTER	FLD	14-May-20	15-Jul-20	10	D8T	FCT00298
CA-0001785 - PIDHERNEYS INC	60685532	EDMONTON DIST CENTER	FLD	07-May-20	13-May-20	20	D8T	FCT00298
CA-0001785 - PIDHERNEYS INC	60685532	EDMONTON DIST CENTER	FLD	27-Apr-20	28-Apr-20	10	D8T	FCT00298
CA-0001785 - PIDHERNEYS INC	60657051	RED DEER	FLD	06-Dec-19	02-Jan-20	10	D8T	FCT00298
ZCWCATGWRC - WARRANTY-CAT GOODWILL, RECEIVABLE CLG	66237166	RED DEER	CLG	12-Oct-19	14-Oct-19	1	D8T	FCT00298
CA-0001785 - PIDHERNEYS INC	60633436	EDMONTON DIST CENTER	FLD	21-Aug-19	01-Oct-19	1	D8T	FCT00298
CA-0001785 - PIDHERNEYS INC	60628780	EDMONTON DIST CENTER	FLD	31-Jul-19				FCT00298

		1					т	
CA-0001785 - PIDHERNEYS INC	60603945	RED DEER	FLD	18-Apr-19	04-Jun-19	1	D8T	FCT00298
CA-0025459 - K BAR RANCH LTD	60487936	GRANDE PRAIRIE	FLD	17-Oct-17	11-Nov-17	10	D8T	FCT00298
CA-0025459 - K BAR RANCH LTD	60370528	GRANDE PRAIRIE	FLD	15-Jan-16	11-Feb-16	10	D8T	FCT00298
ZCWCATPSRC - WARRANTY-SERV LETTER PSP RECEIVABLE CLI	66112200	CRANDE DRAIDIE						
ZCWCATPSRC - WARRANTY-SERV LETTER	06112208	GRANDE PRAIRIE	СП	12-Jun-15	15-Jun-15	1	D8T	FCT00298
PSP RECEIVABLE CLJ	66112209	GRANDE PRAIRIE	CU	12-Jun-15	15-Jun-15	1	D8T	FCT00298
CA-0025459 - K BAR RANCH LTD	60320799	GRANDE PRAIRIE	FLD	14-Apr-15	08-Jun-15	1	D8T	FCT00298
CA-0025459 - K BAR RANCH LTD	60320799	GRANDE PRAIRIE	FLD	14-Apr-15	08-Jun-15	2	D8T	FCT00298
ZCWCATGWRC - WARRANTY-CAT GOODWILL, RECEIVABLE CLG	66107672	GRANDE PRAIRIE	CLG	06-May-15	07-May-15	1	D8T	FCT00298
ZCWCATGWRC - WARRANTY-CAT	00407400							
GOODWILL, RECEIVABLE CLG	6610/188	GRANDE PRAIRIE	CLG	04-May-15	05-May-15	1	D8T	FCT00298
ZCWCATPSRC - WARRANTY-SERV LETTER PSP RECEIVABLE CLJ	66104548	GRANDE PRAIRIE	CU	03-Apr-15	06-Apr-15	1	D8T	FCT00298
CA-0025459 - K BAR RANCH LTD	60307907	GRANDE PRAIRIE	FLD	30-Mar-15	30-Mar-15	2	D8T	FCT00298
CA-0025459 - K BAR RANCH LTD	60307907	GRANDE PRAIRIE	FLD	06-Feb-15	24-Mar-15	1	D8T	FCT00298

Brand	Job Code	Component Code	Service	Parts	Labor	Misc	Work Order Total
			7206-035				
CAT	035-TROUBLESHOOT	7206-EQUALIZER BAR	ACZ-001	28,745.02	19,014.00		47,759.02
			7606-035				
CAT	035-TROUBLESHOOT	7606-PRODUCT LINK SYSTEM	ACZ-001				
			1361-510				
CAT	510-REPLACE	1361-WATER PUMP	ACZ-001				
			1380-035				
CAT	035-TROUBLESHOOT	1380-COOLANT HOSE/LINES	ACZ-001	915.82	1,759.50		2,675.32
			7606-035				
CAT	035-TROUBLESHOOT	7606-PRODUCT LINK SYSTEM	ACZ-001				
			1901-035				
CAT	035-TROUBLESHOOT	1901-ENG ELECTRONIC CONT MOD	ACZ-001	2,826.83	2,532.00	45	5,403.83
			7502-557-XFL-				
CAT	557-SUPPLY PARTS	7502-PM 2	ACZ-064				
			7519-035				
CAT	035-TROUBLESHOOT	7519-SVC CONTR & MAINT PGMS	ACZ-001	1,701.33	4,530.25	-622.3	5,609.33
			7606-012				
CAT	012-INSTALL	7606-PRODUCT LINK SYSTEM	ACZ-001				
			7606-012				
CAT	012-INSTALL	7606-PRODUCT LINK SYSTEM	ACZ-001				
			1000-035				
CAT	035-TROUBLESHOOT	1000-ENGINE	ACZ-001		788.84		788.84
			108C-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	108C-CGI COOLER	PS53522-01T	2,361.46			2,361.46
			7606-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	7606-PRODUCT LINK SYSTEM	PS46180-01T				
			7606-540-PU -				
CAT	540-PERFORM	7606-PRODUCT LINK SYSTEM	ACZ-001				

			108C-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	108C-CGI COOLER	PS53522-01T				
			1000-023				
CAT	023-REPAIR	1000-ENGINE	ACZ-001		1,282.32		1,282.32
			1408-035				
CAT	035-TROUBLESHOOT	1408-WIRING HARNESS	ACZ-001		420.6	-40.6	380
			1274-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	1274-FUEL SUPPLY/RETURN LINES	PS44534-01T	34.82	133.94		168.76
			1802-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	1802-REFRIGERANT COMPRESSOR	PS44266-01T		178.59		178.59
			1802-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	1802-REFRIGERANT COMPRESSOR	PS44266-01T				
			1274-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	1274-FUEL SUPPLY/RETURN LINES	PS44534-01T		157.73		157.73
			7000-040				
CAT	040-INSPECT	7000-MACHINE	ACZ-001		565.7		565.7
			7000-040				
CAT	040-INSPECT	7000-MACHINE	ACZ-001		565.7		565.7
			4304-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	4304-STEERING LINES/HOSES	PS44128-01T	598.6	2,098.52	335.44	3,032.56
			7000-040				
CAT	040-INSPECT	7000-MACHINE	ACZ-001				
			4304-595-				
CAT	595-PERFORM PRODUCT UPDATE ON	4304-STEERING LINES/HOSES	PS44128-01T	j			